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2AM: JES
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@ =0RX (e &)
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38s 314,380 1,197,698 883,318
S8 sS AFE & 214,440 597,678 A 383,238
Z= 01 XFXI 47,300 68,070 N20,770
FOUTXAMH 2 47,300 68,070 N20,770
201 et A | 28,900 56,450 N 27,550
02 =329l 900 900 0
OFUNXHEH AN S22 900
03 At L 28,000 55,550 N 27,550
OFUNALE ZAISE 24,000
OSMESY A 07 S|
2,000,000& * 23] 4,000
301 dEtE A= 16,000 10,000 6,000
09 HALAHIEA = 16,000 10,000 6,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
206 M= Hl 5,000 0 5,000
01 =8l 5,000 0 5,000
Ootdgt 22 =4 5,000
IS A2 FUEHAMN 12,000 10,000 2,000
A2 FUHAAY 12,000 10,000 2,000
A8 FUEHAALY 12,000 10,000 2,000
401 A& HIZ 201 I 12,000 10,000 2,000
01 A& HI 12,000 10,000 2,000
Okz B 10,000
ONOIEEE 23 A 2,000
HYR2IZH (S S) 87,940 590,020 A502,080
olet 2 oy 840 507,460 A 506,620
ol 2| 840 507,460 A 506,620
101 @14l 840 489,820 A 488,980
03 RIAHAAZZRHE > 840 28,897 A 28,057
OdATHHEE = 70,000& = 123 840
Jl=&l 87,100 82,560 4,540
Jl234 87,100 82,560 4,540
201 LEr2 Y| 43,580 39,040 4,540
01 At 2teltl 14,920 18,300 A 3,380
Ogt=&H| 8,800
-JIZ2MNEEEY 4,000
- JIEt==EH| 4,800
Ogxsg 30,000& = 23| = 12& 720
Oorzt & FL2 2L 4l
450,000& = 12& 5,400
02 2324l 28,660 20,740 7,920
Oz22= & HA 28,660
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—0bl=2=sUdIIes 1,500
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—AEEXN SEFUHE E22R=
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